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(Objective Questions) 

ACADEMIC/OPEN 

[ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 16 rFkk iz'u 44 (16 + 14 + 14) gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 16 in 

number and it contains 44 (16 + 14 + 14) questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha flEcU/k esa dksbZ Hkh nkok Lohdkj ugha flEcU/k esa dksbZ Hkh nkok Lohdkj ugha flEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAd;k tk;sxkAd;k tk;sxkAd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
 (i) ;g iz'u&i= rhu rhu rhu rhu Hkkxksa esa foHkkftr gS % 
  HkkxHkkxHkkxHkkx    –    v %v %v %v %    vykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsA 
  HkkxHkkxHkkxHkkx    –    c %c %c %c % dEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ys"k.kA 
        HkkxHkkxHkkxHkkx    –    llll    %%%%    dEI;wVjhÑr ys[kkaduA 
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 (ii) Hkkx Hkkx Hkkx Hkkx – v vfuok;Z v vfuok;Z v vfuok;Z v vfuok;Z gSAgSAgSAgSA ijh{kkFkhZ viuh bPNk ls Hkkx Hkkx Hkkx Hkkx – c c c c rFkk Hkkx Hkkx Hkkx Hkkx – llll esa ls dksbZ ,d,d,d,d Hkkx       
gy djsaA 

 (iii) llllHkh Hkh Hkh Hkh iz'u gy djus gSaA izR;sd iz'u 1 vad dk gSA lghlghlghlgh  mÙkj viuh mÙkj-iqfLrdk esa fyf[k,A 
General Instructions : 

 (i) This question paper is divided into three Parts :  

  Part – A : Not for Profit Organizations & Partnership Accounts. . 

  Part – B : Company Accounts & Analysis of Financial Statements. 

  Part – C : Computerized Accounting. 

 (ii) Part – A is compulsory. Candidates have to attempt any one part from 

Part – B and Part – C of their choice.  

 (iii) All questions are to be attempted. Each question carries 1 mark. Write the 
correct answer in your answer-book. 

Hkkx Hkkx Hkkx Hkkx –    vvvv    
PART – A 

¼¼¼¼vykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrsvykHkdkjh laLFkk,¡ ,oa lk>snkjh [kkrs½½½½    
(Not for Profit Organizations & Partnership Accounts)    

1. vk; o O;; [kkrk n'kkZrk gS % 1 

(A) vkf/kD; ;k deh  (B) udnh 
(C) 'kq) ykHk (D) iw¡th [kkrs 
Income and Expenditure Account reveals : 

(A) Surplus or Deficiency (B) Cash in Hand 
(C) Net Profit (D) Capital Account 

2. lk>snkjh lays[k ds vHkko esa iw¡th ij C;kt dh nj % 1 

(A) 5% çfro"kZ  (B) 6% çfro"kZ 
(C) 12% çfro"kZ (D) fdlh C;kt dk çko/kku ugha 
In the absence of Partnership deed, the interest is allowed on Partner's Capital : 

(A) @ 5% p. a.  (B) @ 6% p. a. 
(C) @ 12% p. a. (D) No interest is allowed 
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3. lk>snkjh lays[k cukuk % 1 

(A) vfuok;Z gS (B) fyf[kr esa vfuok;Z gS 
(C) vfuok;Z ugha gS (D) buesa ls dksbZ ugha 
Forming a Partnership deed is : 

(A) Mandatory (B) Mandatory in writing 
(C) Not Mandatory (D) None of the above 

4. iw¡th [kkrksa ij C;kt MsfcV fd;k tk,xk % 1 

(A) ykHk-gkfu [kkrs esa  

(B) ykHk-gkfu fu;kstu [kkrs esa 

(C) lk>snkj iw¡th [kkrs esa 

(D) buesa ls dksbZ ugha 

Interest on Partner's Capitals will be debited to : 

(A) Profit and Loss Account 

(B) Profit and Loss Appropriation Account 

(C) Partners Capital Account 

(D) None of the above 

5. ^v*] ^c* vkSj ^l* ykHk dks Øe'k% 3 : 2 : 1 ds vuqikr esa ck¡Vrs FksA mUgksaus Hkfo"; esa ykHkksa dks           
2 : 2 : 1 esa ck¡Vus dk fu.kZ; fy;kA ykHk-gkfu foHkktu vuqikr esa cnyko ij çR;sd lk>snkj dk çkfIr 
o R;kx Kkr djsa % 1 

(A) R;kx ^v* 
30

3
, çkfIr ^c* 

30

2
, çkfIr ^l* 

30

1   

(B) çkfIr ^v* 
30

2
, çkfIr ^c* 

30

1
, R;kx ^l* 

30

3  

(C) R;kx ^v* 
30

3
, çkfIr ^c* 

30

1
, çkfIr ^l*

30

2
 

(D) çkfIr ^v* 
30

1
, çkfIr ^c* 

15

1
, R;kx ^l* 

10

1
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'A', 'B' and 'C' sharing profit and loss in the ratio of 3 : 2 : 1. The partners 

decide to share future profit and loss in the ratio of 2 : 2 : 1. Each Partner's 

gain or sacrifice due to change in ratio will be : 

(A) Sacrifice 'A' 
30

3
, Gain 'B' 

30

2
, Gain 'C' 

30

1   

(B) Gain 'A' 
30

2
, Gain 'B' 

30

1
, Sacrifice 'C' 

30

3  

(C) Sacrifice 'A' 
30

3
, Gain 'B' 

30

1
, Gain 'C'

30

2
 

(D) Gain 'A' 
30

1
, Gain 'B' 

15

1
, Sacrifice 'C' 

10

1
 

6. [;kfr fdl çdkj dh lEifÙk gS \ 1 

(A) [;kfr ,d dkYifud lEifÙk gS  (B) [;kfr ,d pkyw lEifÙk gS 

(C) [;kfr ,d O;FkZ vk'oklu gS (D) [;kfr ,d vewrZ lEifÙk gS 

Goodwill is what type of assets ? 

(A) Goodwill is a fictitious assets (B) Goodwill is a current assets 

(C) Goodwill is a wasting assets (D) Goodwill is an intangible assets  

7. R;kx vuqikr % 1 

(A) u;k vuqikr − iqjkuk vuqikr (B) iqjkuk vuqikr − u;k vuqikr 

(C) iqjkuk vuqikr − ykHk çkfIr vuqikr (D) ykHk çkfIr vuqikr − iqjkuk vuqikr 

Sacrificing ratio : 

(A) New Ratio − Old Ratio (B) Old Ratio − New Ratio 

(C) Old Ratio − Gaining Ratio (D) Gaining Ratio − Old Ratio 
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8. ;fn u;k lk>snkj [;kfr udnh esa ykrk gS] rks og iqjkus lk>snkjksa dks fn;k tk,xk % 1 

(A) R;kx-vuqikr esa (B) iqjkuk ykHk foHkktu vuqikr esa 

(C) u;k ykHk foHkktu vuqikr esa (D) iw¡th vuqikr esa 

If the new partner brings his share of goodwill in cash, it will be shared by old 

partners in : 

(A) Ratio of sacrifice (B) Old profit sharing ratio 

(C) New profit sharing ratio (D) In capital ratio 

9. u;k lk>snkj dks lk>snkjh esa ços'k fn;k tkrk gS % 1 

(A) ,d lk>snkj dh lgefr ls  

(B) cgqer lk>snkjksa dh lgefr ls 

(C) lHkh iqjkus lk>snkjksa dh lgefr ls  

(D) 2/3 iqjkus lk>snkjksa dh lgefr ls 

A new partner may be admitted into a partnership : 

(A) with the consent of any one partner 

(B) with the consent of majority of partners 

(C) with the consent of all old partners 

(D) with the consent of 2/3rd of old partners 

10. lk>snkj ^v* o ^c* ykHk dks 2 : 1 esa ck¡Vrs gSaA ^l* dks 1/3 Hkkx ds fy, ços'k fn;kA u;k ykHk 
foHkktu vuqikr D;k gksxk \ 1 

(A) 2 : 1 : 1  (B) 3 : 1 : 2 

(C) 4 : 2 : 3 (D) 2 : 1 : 3 
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'A' and 'B' sharing profit in 2 : 1. They admit 'C' as a partner for 1/3 share. The 

new ratio will be : 

(A) 2 : 1 : 1  (B) 3 : 1 : 2 

(C) 4 : 2 : 3 (D) 2 : 1 : 3 

11. iqueZwY;kadu [kkrk gS % 1 

(A) okLrfod [kkrk (B) O;fDrxr [kkrk 

(C) ukeek= [kkrk (D) lEifÙk [kkrk 

Revaluation Account is a : 

(A) Real Account (B) Personal Account 

(C) Nominal Account (D) Asset Account 

12. lk>snkj dh lsok-fuo`Ùk ds le; [;kfr dks iw¡th [kkrs esa ØsfMV fd;k tkrk gS % 1 

(A) vodk'k xzg.k djus okys lk>snkj ds (B) cps gq, lk>snkjksa ds 

(C) lHkh lk>snkjksa ds (D) buesa ls dksbZ ugha 

On retirement of a partner, goodwill will be credited to the Capital Account of : 

(A) Retiring Partners (B) Remaining Partners 

(C) All Partners (D) None of the above 

13. ^v*] ^c* o ^l* lk>snkj ykHk dks Øe'k% 
4

1
:

4

1
:

2

1  esa ck¡Vrs gSaA lk>snkj ^c* ds vodk'k xzg.k djus 

ij u;k ykHk foHkktu vuqikr gksxk % 1 

(A) 2 : 4  (B) 1 : 2 

(C) 2 : 1  (D) 
2

1
:

4

1  
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'A', 'B' and 'C' are partners sharing profits in the ratio of 
4

1
:

4

1
:

2

1
. New ratio on 

the retirement of 'B' will be :  

(A) 2 : 4  (B) 1 : 2 

(C) 2 : 1  (D) 
2

1
:

4

1  

14. lk>snkj ds vodk'k xzg.k ds le; lap; ykHk o gkfu dk ys[kk fdl çdkj gksxk \ 1 

(A) lHkh lk>snkjksa ds iqjkus vuqikr esa ØsfMV 

(B) lk>snkjksa ds iw¡th [kkrs esa MsfcV] iqjkus vuqikr esa 

(C) cps gq, lk>snkjksa ds iw¡th [kkrs esa u, vuqikr esa ØsfMV 

(D) cps gq, lk>snkjksa ds çkfIr vuqikr esa iw¡th [kkrs esa ØsfMV 

What treatment is made of accumulated profits and losses on the retirement of 

a partner ? 

(A) Credited to all partners capital account in old ratio  

(B) Debited to all partners capital account in old ratio 

(C) Credited to remaining partners capital account in new ratio 

(D) Credited to remaining partners capital account in gaining ratio 

15. ^v* vkSj ^c* lk>snkj ykHk dks Øe'k% 2 : 3 vuqikr esa ck¡Vrs gSaA ^l* dks 1/5 Hkkx ds fy, lk>snkjh 
esa ços'k fn;k] tks fd ^v* ls viuk iwjk fgLlk ysxkA u;k ykHk foHkktu vuqikr Kkr dhft, % 1 

(A) 1 : 3 : 3 (B) 3 : 1 : 1 

(C) 2 : 2 : 1 (D) 1 : 3 : 1 

'A' and 'B' are partners sharing profits & losses in the ratio of 2 : 3. 'C' is 

admitted for 1/5 share which he gets its wholly from 'A'. The new profit 

sharing ratio after C's admission will be : 

(A) 1 : 3 : 3 (B) 3 : 1 : 1 

(C) 2 : 2 : 1 (D) 1 : 3 : 1 
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16. 'X' vkSj 'Y' lk>snkj ykHk dks 3 : 2 esa ck¡Vrs FksA 'Z' ds lk>snkjh esa ços'k ij R;kx vuqikr Kkr 
dhft, ;fn u;k ykHk foHkktu vuqikr 9 : 7 : 4 gS % 1 

(A) 3 : 1  (B) 3 : 2 
(C) 1 : 3  (D) 9 : 7 
'X' and 'Y' are partners sharing profits in the ratio of 3 : 2. 'Z' is admitted as a 

partner. Calculate sacrificing ratio if new profit sharing ratio is 9 : 7 : 4  :  

(A) 3 : 1  (B) 3 : 2 
(C) 1 : 3  (D) 9 : 7 

Hkkx Hkkx Hkkx Hkkx –    cccc    
PART – B 

¼¼¼¼dEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ysdEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ysdEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ysdEiuh [kkrs ,oa foÙkh; fooj.kksa dk fo'ys"k.k"k.k"k.k"k.k½½½½    
(Company Accounts & Analysis of Financial Statements) 

17. dEiuh esa lnL;ksa dk nkf;Ro gksrk gS % 1 

(A) lhfer  (B) vlhfer 
(C) LFkk;h  (D) vLFkk;h 
The liability of members of a Company is : 

(A) Limited (B) Unlimited 
(C) Stable (D) Fluctuating 

18. dEiuh ds vlyh ekfyd dkSu gksrs gSa \ 1 

(A) ljdkj (B) lapkyd eaMy 
(C) lerk va'k/kkjh (D) _.ki=/kkjh 
Who are the real owners of a Company ? 

(A) Government (B) Board of Directors 
(C) Equity shareholders (D) Debentureholders 

19. va'k/kkjh dEiuh ls D;k çkIr djrs gSa \ 1 

(A) C;kt  (B) deh'ku 
(C) ykHk  (D) ykHkka'k 
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Shareholders receive from the Company : 

(A) Interest (B) Commission 

(C) Profit (D) Dividend 

20. lafpr iw¡th fdl iw¡th dk Hkkx gS \ 1 

(A) ek¡x dh xbZ iw¡th dk (B) Hkqxrku dh xbZ iw¡th dk 

(C) iw¡thxr lap; dk (D) uk e¡xkbZ xbZ iw¡th dk 

Reserve Capital is a part of : 

(A) Called up Capital  (B) Paid up Capital 

(C) Capital Reserve (D) Uncalled Capital 

21. tks dEiuh dh 'kq#vkr djrs gSa] dgyk, tkrs gSa % 1 

(A) va'k/kkjh  (B) Mk;jsDVj 

(C) çeksVj  (D) ys[kkijh{kd 

Persons who start a company are called : 

(A) Shareholders (B) Directors 

(C) Promoters (D) Auditors 

22. Vscy F ds vuqlkj] dkWy ds cdk;k gksus ij C;kt dh nj yxkbZ tkrh gS % 1 

(A) 6% çfro"kZ (B) 10% çfro"kZ 

(C) 5% çfro"kZ (D) 12% çfro"kZ 

Interest on Calls in arrears is charged according to Table F at : 

(A) 6% p. a. (B) 10% p. a. 

(C) 5% p. a. (D) 12% p. a. 

23. vfxze çkfIr ij dkWy dh jde % 1 

(A) va'kiw¡th esa tksM+h tkrh gS (B) va'kiw¡th ls ?kVkbZ tkrh gS 

(C) lEifÙk i{k esa n'kkZ;h tkrh gS (D) lerk o nkf;Ro i{k esa n'kkZ;h tkrh gS 
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Amount of Calls in Advance is : 

(A) Added to Share Capital 

(B) Deducted from Share Capital 

(C) Shown on the Assets side 

(D) Shown on the Equity & Liabilities side 

24. 'kwU; dwiu ckW.M tkjh fd, tkrs gSa % 1 

(A) 'kwU; C;kt nj ij 

(B) igys ls fu/kkZfjr nj ij 

(C) fcuk fu/kkZfjr nj ij 

(D) buesa ls dksbZ ugha 

Zero Coupon Bonds are issued : 

(A) at zero interest rate 

(B) with specified rate of interest 

(C) without specified rate of interest 

(D) None of these 

25. dEiuh ds lekiu ij _.ki=ksa dh jkf'k okil dh tkrh gS % 1 

(A) lcls igys (B) lcds ckn esa 

(C) lerk va'k/kkjh ls igys (D) lerk va'k/kkjh ds ckn 

On liquidation of company, principal amount of debentures is returned : 

(A) First of all (B) Last of all 

(C) Before Equity Capital (D) After Equity Capital 
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26. _.ki=/kkjh gSa % 1 

(A) dEiuh ds ekfyd  (B) dEiuh ds xzkgd 

(C) dEiuh ds ysunkj (D) dEiuh ds çeksVj 

Debenture holders are : 

(A) Owners of the Company (B) Customers of the Company 

(C) Creditors of the Company (D) Promoters of the Company 

27. _.ki= lkekU;r% dEiuh dh ------------ lEifÙk gSA 1 

(A) lqjf{kr (B) vlqjf{kr 

(C) vkaf'kd :i ls lqjf{kr (D) vk/ks lqjf{kr 

Debentures are usually …………. a company assets. 

(A) Secured (B) Unsecured 

(C) Partly Secured (D) Half Secured 

28. _.ki= tkjh fd, tk ldrs gSa % 1 

(A) udnh ds cnys   

(B) udnh ds vykok vU; çfrQy ds cnys 

(C) lgk;d çfrHkwfr ds :i esa  

(D) buesa ls fdlh ds fy, Hkh 

Debentures of a Company can be issued : 

(A) For Cash  

(B) For consideration other than cash 

(C) As a collateral security  

(D) Any of the above 
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29. vius _.ki=ksa dks jn~n djus ij gq, ykHk dks gLrkarfjr fd;k tkrk gS % 1 

(A) lkekU; lap; esa (B) ykHk-gkfu fooj.k esa 

(C) iw¡thxr lap; esa (D) _.ki= [kkrk esa 

Profit on cancellation of own debentures is transferred to : 

(A) General Reserve (B) Statement of Profit and Loss 

(C) Capital Reserve (D) Debentures Account 

30. lHkh _.ki=ksa ds 'kks/ku ds ckn ^_.ki= 'kks/ku lap;* dk gLrkarj.k fdl [kkrs esa fd;k tkrk gS \ 1 

(A) iw¡th lap; [kkrs esa (B) lkekU; lap; [kkrs esa 
(C) flafdax Q.M [kkrs esa (D) ykHk o gkfu fooj.k esa 
Where is 'Debenture Redemption Reserve' transferred after the redemption of 

all debentures ? 

(A) Capital Reserve Account (B) General Reserve Account 
(C) Sinking Fund Account (D) Statement of Profit and Loss 

Hkkx Hkkx Hkkx Hkkx –    llll    
PART – C 

¼dEI;wVjh¼dEI;wVjh¼dEI;wVjh¼dEI;wVjhÑr ys[kkadu½Ñr ys[kkadu½Ñr ys[kkadu½Ñr ys[kkadu½    
(Computerized Accounting) 

 

17. lkW¶Vos;j -------------- ds fy, vklku gksuk pkfg,A 1 

(A) LFkkfir djus  (B) vuqdwyu 
(C) le>us esa (D) buesa ls lHkh  
A software must be easy to …………. . 

(A) Install (B) Adapt 
(C) Understand (D) All of the above 

18. Vsyj esM lkW¶Vos;j ds D;k ykHk gSa \ 1 

(A) cus-cuk, lkW¶Vos;j gSa (B) de ykxr ds gSa 

(C) MkVk dh mPp lqj{kk gS (D) buesa ls dksbZ ugha 
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What is the advantage of Tailor made Software ? 

(A) These are ready-made software (B) Low cost 

(C) High secrecy of data (D) None of the above 

19. dEI;wVjhÑr ys[kkadu dh D;k fo'ks"krk,¡ gSa \ 1 

(A) MkVk dks LVksj djuk  

(B) tYnh fjiksVZ rS;kj djuk 

(C) fofHkUu [kkrksa dk lewg  

(D) mijksDr lHkh 

What are the features of Computerized Accounting System ? 

(A) Storage of accounting data 

(B) Instantly produces different reports 

(C) Group of different accounts 

(D) All of the above 

20. ys[kkadu lkW¶Vos;j dks ç;ksx esa ykus ds fy, fdu rÙoksa ij /;ku fn;k tkrk gS \ 1 

(A) yphykiu (B) vuqdwyrk 

(C) çca/ku dk fo'okl (D) (A) vkSj (B) nksuksa 

What are the factors to be considered while using accounting software ? 

(A) Flexibility (B) Adaptability 

(C) Interest of Management (D) Both (A) and (B) 

21. MkVk gS %  1 

(A) lwpuk  (B) rF;ksa dk lewg 

(C) (A) vkSj (B) nksuksa (D) buesa ls dksbZ ugha 
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Data is : 

(A) Information (B) Collection of facts 

(C) Both (A) and (B) (D) None of these 

22. çØef.kr lwpuk ds òksr % 1 

(A) buiqV  (B) vkmViqV 

(C) (A) vkSj (B) nksuksa (D) buesa ls dksbZ ugha 

The result of processed information is : 

(A) Input (B) Output 

(C) Both  (A) and (B) (D) None of these 

23. Dosjh cukus dh fof/k gS % 1 

(A) SQL fof/k (B) JHL fof/k 

(C) RST fof/k (D) DBH fof/k 

The method to prepare a query is : 

(A) SQL method (B) JHL method 

(C) RST method (D) DBH method 

24. buesa ls dkSu-lh fof/k dk ç;ksx fd'r ewY; ls C;kt dh x.kuk djus ds fy, fd;k tkrk gS \ 1 

(A) PPMT (B) IPMT 

(C) FAPM (D) buesa ls dksbZ ugha 

Which function will be used for calculating interest included in instalment of a 

loan ? 

(A) PPMT (B) IPMT 

(C) FAPM (D) None of these  
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25. A1, A2, A3 lsy ds oSY;w dks tek djus dk lw= D;k gS \ 1 

(A) Sum = (A1 + A2 + A3) (B) Sum (A1, A2, A3) 

(C) = Sum (A1 : A3) (D) buesa ls dksbZ ugha 

What is the formula for adding the value of cell A1, A2, A3 ? 

(A) Sum = (A1 + A2 + A3) (B) Sum (A1, A2, A3) 

(C) = Sum (A1 : A3) (D) None of these 

26. Ðkl fudkyus ds fy, dkSu-lk dk;Z fd;k tkrk gS \ 1 

(A) SLN  (B) PRF 

(C) DUD  (D) LTF 

Which function is used to calculate depreciation ? 

(A) SLN  (B) PRF 

(C) DUD  (D) LTF 

27. dkSu-lk lw= xyrxyrxyrxyr gS \ 1 

(A) = (10 + 15) (B) = (B7 * B1) 

(C) (B7 + 14) (D) 14 + 15 

Which formula is incorrect ? 

(A) = (10 + 15) (B) = (B7 * B1) 

(C) (B7 + 14) (D) 14 + 15 

28. dkSu-lk fpg~u igys lsy o vkf[kjh lsy ds O;k[;ku dks vyx fn[kkrk gS \ 1 

(A) dkWek  (B) lseh-dksyu 

(C) fojke  (D) dksyu 

Which symbol separates the cell addresses of the first cell and the last cell in 

the given range ? 

(A) Comma (B) Semi-colon 

(C) Period (D) Colon 
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29. bl vkWI'ku ds ç;ksx ls lw= dks Hkh dkWih fd;k tk ldrk gS % 1 

(A) vkWVks le }kjk (B) fQy }kjk 

(C) fDy;j  }kjk (D) lkWVZ ,.M fQYVj }kjk 

Formula can also be copied using this option : 

(A) AutoSum (B) Fill 

(C) Clear (D) Sort and Filter 

30. buesa ls dkSu-lk {ks= pkVZ dk okLrfod {ks= gS \ 1 

(A) pkVZ  (B) IykWV 

(C) fxzMykbUl (D) ystsaM 

This area is the actual area of the chart : 

(A) Chart (B) Plot 

(C) Gridlines (D) Legend 

S 


